The cumulative frequency diagram shows the distribution of speeds for 60 cars
on a road.
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(a) Estimate the median speed.

60 kmalh,
(1)
(b) Estimate the interquartile range of the speeds.
Ho -4y
.26Mmlh
(2
The speed limit on the road is 85 km/h.
(c) How many cars exceeded the speed limit?
W 56, then 4
\ (;_ —'Dq ’ me}(\ 3 .........................
(2
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A group of scientists want to estimate the number of eels in a lake.

They catch and ring 40 eels.
They return the 40 eels to the lake.
They then catch 180 eels and 23 are ringed.

Estimate the number of eels in the lake.

ho . 22
J | 80
229 = 1200
3 = 2% O
=31%
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Factorise fully

WZY a Wy2

wﬁ(w toy)
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(@) xis an integer.
Write down all the solutions of the inequality 30<7x+1<135
29 % A €534
GelM o» & & &£ 36915 -

a s e @ 18 19 @

(b) Write down the inequality shown by the diagram.
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Solve

11
x+3 x+1

(X+1) = (x +3) 222X >4 544G

3 L 2K F &
(X +2) (X +0) Qr L4
O = £* Pt Y4
g,
- 2 4
K ZHYxe2 O = (x2)(+D)
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Match each graph to the correct equation

Graph A Graph B
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(4, 112)f

1, 14) /
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>
™

The sketch shows a curve with equation
y = abx where a and b are constants and b >0

The curve passes through the points (1, 14) and (4, 112)

b’)C
Calculate the value of aand b \5 =Q
!
()‘\L«\ "L_‘,‘:C'\b
i & Gb @

LY w=d'®@

Q=@

(R C\bu ‘H:?‘O a=..T
._—Ta’" = Ob C\:q
T S
bi= 7
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Write the numbers below in order.
Start with the smallest.

11 . 5
23 0472 11
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An object is placed on a table.
It exerts a force of 22 newtons on the table.

The pressure on the table is 500 newtons/m2.
Calculate the area of the crate that is in contact with the table.
Include suitable units.

¥
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Prove that the angle at the centre is twice the angle at the circumference.
O~ B0 ~29 (O0nges iw O\’VV\C«VE‘QB
betgo ~2x (0 onon )

C = 260 ~ (360 -2« _zj>
= 2xd 7,3

3

b e ClV}:C)W(’ al  cenbe 1S Hlice  tNe
Gnge ot The  Citaumyeren.
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(a) Find the equation of L.

NEREES
3
The point P has coordinates (-2, 9).
(b) Find an equation of the line that is parallel to L and passes through P.
}j = —?> X ‘\"3
(2)
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b . Shown below is a square based pyramid.
The apex E is directly over the centre of the base.

=
26cm
/
B c
Qecr~
20cm D
AD =20cm
CE =26cm
(a) Work out the length of AC
20%420% AC-= \E;ou
= hoo+uQO BL:FLC)\S—’L
= R a3 cm
(to V dp) (2
(b) Calculate angle CAE
H m - \0 h
4% y
Cose = 101t
26 SEQT e
. ceT HUSE o 2dp) (2
o1 L Czg7 OHES C (
(c) Work out the height of the pyramid
2=~ {ip s
o TR Y I
= Une (1o 24p) (2
= AT+
(d) Calculate the volume of the pyramid
s |
V&, 3 A
= 1 (7-032( 213 7) QO)DgoﬁcW
% (h 2% @
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ABCD is a square, X is a point in the diagonal BD and the
perpendicular from B to AX meets AC in Y.

\i

€

MY
A B

Prove that triangles AXD and AYB are congruent.
he-AD (Squac)
' 11K © - <0 - A D
JpwC = Z ADRr = LS (d'\agoc\ab bisect wﬂm O/BIQ>
Fdg /[ ABY = K

o3 = F

V!

/BB

i)

[ eqF = LAUB (verncolly opposie)

/Ace

)
/ €@ =90

V)

(oup s o K sive  LxEy= xRy -q07

So Z_EXW: ~uySt+t ¥ \

fona= 5 -7 (age> an Stagping acd 0150)
SD h =

As anges i ABxd add T 130, LDAX= X
HS y 114

, Aﬂ‘f@ ~ Cmgmem Jo A\AXD de to ASA
. 5
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Hannah is baking two cakes.

One cake needs 1% cups of milk.
Hannah has 1% cups of milk.

How much more milk does Hannah need?
2] .
PN for 2 cates
Ul - 'y
19
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In a box

the number of blue counters and the number green counters are in the ratio 7:4
the number of green counters and the number of red counters are in the ratio 3:1

The total number of counters in the bag is 444.

How many green counters are in the bag?

FaHy 2 |
s LQ\: lllx% “k | I.@m
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i LY 9\
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(¥
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Wiy 3y = 12
'tx\e = 14y
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Write 32 in the form 4n

™
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Describe fully the single transformation that maps triangle A onto triangle B.

Kotawo a0’ Oacliise. Usingy. (00).00...cone. ..
otoen




A remote control car drives in a straight line.

It starts from rest and travels with constant acceleration for 20 seconds reaching
a velocity of 12m/s.

It then travels at a constant speed for 10 seconds.
It then slows down with constant deceleration of 2m/s2.

(a) Draw a velocity time graph
Velocity, m/s
'y
14

10 j

O N »h O O®©

0 10 20 30 40 50 60

time, seconds

(b) Using your velocity-time graph, work out the total distance travelled.

,]/1 [‘[L,‘}’kj) A




The speed limit on a road is 50 mph.
Acar drives 19 miles in 22 minutes. = O+ T636 | Mingley -

Is the car breaking the speed limit? « b©C

You must show your workings. . =
S8 i 60 mins

S_l . sﬂv\/ph
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The table gives information about the weights of 50 male rugby players.

Lowest 68kg Ciulk
Lower Quartile  74kg PERGS 3
Median 82kg TLO\Y\% =22k g
Upper Quartile 88kg
Highest 100kg

(a) Draw a box plot to show this information.
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The weights of 50 female rugby players are also recorded.

The lightest female rugby player is 51kg. UPPQ( =k uj

The lower quartile is 60kg.

The median is 71kg.

The range and interquartile range for the female rugby players is the same as

the male rugby players. }\15\,\@& k] Lt5

(b) Draw a box plot to show this information.
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(b)

Factorise y2 - 13y + 36

Factorise 2w2 — 9w + 4

s Emsssarssssshazressaararunaanaann
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Solve the inequality x2 - 9x + 14 < 0
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(a) Write down the coordinates of the point A.

40.,..0.)
(1)

(b) Write down the coordinates of the point B.
AN W




Here is the graph of y = f(x)
The point P(4, 1) is a point on the graph.

,J/
‘w\‘ ;é [
\ ) "y = f(x)
Vo, 1)
| X

What are the coordinates of the new position of P when the graphy =f(x) is
transformed to the graph of

(@) y=-f(x)

............... )
(b) y=1f(x)+ 4
A 2..)
(1)
() y=1(-x)
(’L‘l ..... I L)
(1)
(d) y=1(x+5)
A




el see ranes paue: 2

The straight line L has equationy = =% x + 2

(@) Write down the equation of a line parallel to L

(1)
(b) Find an equation of the line that goes through the point (1, 6) and is
perpendicular to L
Gradeny =2
=2 4+C ¥ L2 e
b= 20)+C &

(=2 +4C
C=4




Prove (2n + 9)? - (2n + 5)2 is always a multiple of 4

(Anta)(2nsia) - (anrsYants)
= Lt +36n FS 0 = (LnT 4700425
. L/\nl ..L?)(jf\ +=1 - LHﬂ‘——lOﬂ’ZY
~lbn +0&

O
=y (un +14)
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Martina has some coins.

Martina has to pay 60p for a car park ticket.
She selects 3 coins at random, without replacement, from her pocket.

Work out the probability that she has chosen the exact price of the ticket.

P (200,20 % & L,body

T
P(S0,5,5) = -—%x_z_— | l'
F Bl |
6 IbB he

(50,5,9) »~ @
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A is the point with coordinates (3, 20)
B is the point with coordinates (15, 2)
N is a point of the line AB such that AN :NB=2: 1

Y

A
A (3, 20)
P
I \N
\;p,,— \
-5 *XB(15,2)
X

Find the coordinates of the point N.

9o -3%=-12 3 coof inak
g =1y =~ \%
1 . . |
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In the diagram below, the lines ED and GH are parallel.

= G

Prove that x +z=y
Loek = LEFA o5 Qlitviak aneen are guad
L HGE= L GRA G5 allemak OVS\OQ cre aquc/
< EFG = X &
j: X +2
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Here is shape ABCDEF
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Describe fully a single transformation so that only vertex F is invariant.
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